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1. WHEAM={1, 2, 3, 4, 5}, N={2, 4, 6}, MIMNN = « )
A {2, 4} B. (2, 4, 6)
C.{1, 3, 5) D. {1, 2, 3, 4, 5, 6}
2. ¥y = 3Sin§E<JE%/J\IE}%/E\H7\Eé «( )
A. 8m B. 4m
C. 2m D. Zm
3. H¥y = x(x — DIE RN « )
A {x|x > 0} B. (x|x> 1}
C. xl0<x<1} D. x|x<08ix>1}
4. % a, b, c %K, Ha>b, N « )
A.a—c>b—c B. |a] > |b]
C. a%? > b? D. ac > bc
5. %“g <0<, Hsind= %’ Micosd = « )
A 22 B.— 22

3 3
c.-2 D. 2
6. PR¥y = 6 sinx cosx[{H KME A «( )
Al B.2

C.6 D.3



7. TELRZIREHy = x? + bx + cHIF 4 EE, N

A.b>0, c<0 B. b>0, c>0
C.b<0, c>0 D. b<0, c<0

8. LAIRA(41), B(2,3), MZE AB HIEE 74T N
Ax—y+1=0 B.x+y—-5=0
Cx—y—1=0 D.x-2y+1=0
9. ¥y = %%

A, TTEREL FLE(0,+oo) LI 1Y

B. THER%L, FLAE(O,+oo) FLIH A

C. AERML, FLIE(—o0,0) B if ik

D. MHMEL, FA1E(—o0,0) 5 UL HY

10. —ANE B 5 AR AL, BOX 5 A PR 3 A TS = M
A.60 1 B.15 4
C.51% D. 10 4
11. #1g5 =m, Nlg2 =

A. 5m B.1-m
C. 2m D. m+1
12. #f(x+1) =x(x+1), M f(2) =

A1 B.3

C.2 D.6

13. My = 2*MEIE 5 E %x + 3 = ORI Ak bR N

A (=3,-9) B. (3,3
C.(-3.) D. (-3,-3)

14, AL — x2 = 14 H

3

Al B.4



C.2 D. V2

15. AR TURREE C: =+ 2 = 1B M, BEATALE C b, M=

25

FIEHI K ( )
A. 10 B. 20
C.16 D. 26
16. 7E2E L E Y {a, )}, #raza, = 10, Nlajag +azas = ( )
A. 100 B. 40
C.10 D. 20

17. 5 1 %4 3 2 B AN R — 51, RIS 2 ot ARy ()

A. B. 1
3

1
4
1 . 3
C. - D. 2
2 4

F s JEEFEB(65 47)

B4 | WEA| = EHEBGRE 4N, §ME4S, 16 5. EEREEMMN

gk b)

18. AN M Fa = (1,2), b= (-2,3), 2a+3b=

19. CAIHEZWEIx —y + 1 = 08T HEkx = — 20, MIRIZEA
20. # 5 MM EN0.8kg, HA 3 M4 590.75kg, 0.83kg 1 0.78kg, NI
42 WP R RN .

21, FA%ER|ax + 1] < 2MFHENEK -2 <x <} Ma=

B o | iFEA| = BEEGRE4ME, 490, BENTHER, BESE

22. (AR/NEGHE Y 12 47)
iﬁ{an}yﬂ%%ﬁﬂ, Haz +ay — 231 =8,
(1)R{a, A2 d;

(I)#a, =2, R{a, )5l 8 HlIHIS,-



23. (B/NEGHE 7 12 47)

WHZy = x+ L2y = x3 + 3x% + 4x + alIVIZk, RKUI R ALFRH a B

24, (/NG 12 47)
miE, AB 54241 1E O MHYIT A 5, AB=3, AB 5@ O 5% AC )3y 50° , 3K
(I)AC;

(INAABC fTHIAR CRERAE] 0.01).

25. (/N 15 47)

BN Tx, y 5 FEx? + y? + 4x sinf — 4y cos§ = 0.
(I)UEM: Teiee Nffl, J7fE¥RoR e e K
(%40 = %Hﬂﬂ HIWZRA 5 E Ry = <P E KR,
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WHECLEMER)SEER
—. EHE
1 [EZR1A
(2515 AR Y AN 3 ZoB A A AN U A SR
[FRFES] MnN={2,4].
2. [&XE1A
U515 R38R ] AR 32 225 25 1 iR s /N Ja
[RIAfE 2] T =2 = 8.
3. [&%1D
U515 R AR ] AN 3 2B B RIR RO E U
[FiEF]) x(x— 1) = Off, JREREEE X, Blx>18x<0.
4. [ZXEYA
(3515 2R Y AR 3 25 A ) SR U AN S U T
[t 5l a>b, Ma—c>b—c.
5. [%%1B
U515 AR Y AN 3 B B I RNR AU = MR

il

RELHE 1 A <0 < Fibleosd <0, cosd = —T— s = — [1- 2 =~ 2%,
6. [%%1D

L% 1 AR A0 2 R B B SRR

[Riff5 5] v = 6 sinx cosx = 3sin2x, 4sin2x = 1 v Bl KAH 3.

7. [&%]18B

[ 1 R T A 2 25 0 R O KRS R

[R5 ] BT AL Yx =0 y = ¢ > 0, WAREIRS v FISs: BRI FR
x=-2<0, flb>0,

8. [ZHX]C
[ 515 SR ) A E B AR SN TEE T2 R

(R4 5] 2B AB KRR Nk, = E = —1,A. B I mAkbRN(3,2), W AB RUFEELT- 70
5



Ly —2=x-3, Hlx—y—-1=0.
9. [ZFX]1C
(515 s ik Y A0 = 22 % 1) R A R B 8 2 B B e

[RARHE S f(—x) = -2 = —f(x), F(x)=—=, Hx<08 x>0 f(x) <0, #y=_}

A EREL, HAE(—o0, 0)F1(0, +00) b FUHIH ik o
10. [&Z1D

(51 Rk ] A Z S A R RR N ESIA S .

[Ritf %] €2 =222 = 10.

U545 R4k ] AR 3 T2 5 () S A B R

[RiiktE3] g2 =1g= =1—-1g5 =1—m.

12. [ZXR]C

U545 R4k ] AR 3 T2 5 (1 I s BR A
[BRESFIQR)=f1+1)=1x1+1)=2.

13. [%%]18

U545 R4k ] AR 3 B2 25 (1 R U ZR IR 5 £

[RAFE S x+3=0, x=-3, y=273 =1, WKy = 2* GELx +3 = 0K AT
H(=3,2)

14. [%%]18B

U545 mdk ] AR 3 25 A (1 i A Ut 2R 1 Ak
[R5 S) c =VaZ + b2 = V3 + 1 =2, MLk HHE2c = 4.
15. [HZE]C

(2515 Rk 1 A 32 25 25 10 TR s oo [ PO I

S5 AME SR PE S AT N2a = 2 x5 = 10, NM=MAEREKHN10+6 = 16.
16. [ZX]1D
(515 IR ] A8 B2 A A AR Ao L) .

(R S]) azay = a;9° - a;¢° = a,2¢> = 10, ajag = a,°q>, azas = a;q.a,q* = a,°q>,



a;ag + ajas = 2aza, = 20,
17. [EFXE]Y A

U515 AR Y AN 3 25 2 1 R RO BE AL AR R R 2
[RARIE S A FoRs 2 B L4, P(A) = Ci =
—. HEE

18. [&%] (—4,13)

U545 Rk ] AR 3 T2 25 (1) ST s A ~F 1 i
[Mif$5 5] 2a+3b = 2(1,2) + 3(-2,3) = (—4,13).
19. [E%E] -1

U515 m AR Y AR 3 25 2 A R U ELER I 1R .

Csritdr 81 (S0P Aoz — MBS -y + 1= 0 B0, WA
T HZ%x = - 20 RIS ABAR A (—4,1), WELZ L 1REk=1,
20. [%%10.82
[5G Ak ] A 225 A (1 AR SO P33
[ 455 15 25 E N5 X 0.8 = 4(kg), TR 2 2k MAHE N4 —-0.75-0.83 - 0.78 =
1.64(kg), NI E RN = 082 (ke) -
2. [EE]2
(516 mi ik ] A 32 228 5 0 AR s o AN S5 A R
[NifiEF]) lax+ 1] <2 > —2<ax+1<2- —%<x<§, FH AR Sla = 2.
=\ BEE
22. fif: BRUA{a YRS, Bk
()ay+as—2a;=a;+d+a;+3d—2a,=4d =8, d=2.

n(n—l)d —2%x8+ 8x(8-1)

(2) Sg = naq + 2 2

X2=72,

23. fifk: IAESZy =x+ L2I&mvIZk, Filly =3x*2+6x+4=1, f#FfEx=—-1.
Yx =10, y=0, RIS AN(=1,0), #0=(-1)3+3x(-1)?+4x(-1)+a=0,
fiftfSa = 2.

24. f:  (1)3EZ50A, {F OD L AC T D.

K4 AB 5 EAHYIT A £, FrLl£OAB = 90°, M £0AC = 90° — 50° = 40°.
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AC = 2AD = 20A - cos£0AC = 2co0s40° = 1.54.,

(2)Spasc = 3AB - ACsinZBAC =2 x 3 X 2c0s40° X sin50° = 3c0s?40° ~ 1.78.
25. fik: (1) UEBA: LR T HEA5

x2 + 4xsin® + 4sin0 + y? — 4 ycosO + 4cos? 6 — 4sin?0 — 4co0s?0 = 0,

(x + 2sinB)? + (y — 2 cos 0)? = 4.

FTEL, TGO NE, JiREFIREAR Ty 2 1AL

(2) 40 = %Hﬂ‘, ZEME AR 0(—V2,V2).
L OF| iy = xifEEd = - 22 = 5 =,

{40 =2 B, [y = oifif.



